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A: Vocabulary

|| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes

Ancient alchemists believed that it was possible to .......... lead into gold.

1) mingle 2) direct 3) transfer 4) transmute

Dan always beats me at chess because he develops such an ......... game plan that I can
never predict his next move.

1) eventual 2) ambiguous 3) elaborate 4) objective

His election as President represented the .............. of his career.

1} summit 2) motivation 3) triangle 4) periphery

She found the job frustrating, and felt she wasn’t ......... anything there.

1) flourishing 2) accomplishing, 3) evolving 4y satisfving

Britain’s ......... over its colonies was threatened once nationalist sentiment began to
spread around the world.

1) hegemony 2) preference 3) compromise 4) independence

He ........... all of his success to his mother’s undying encouragement.

1) interprets 2) converts 3) attributes 4) results

You cam coocasanns the flavor of most dishes with the careful use of herbs.

1) initiate 2) impress 3) precede 4) enhance

The pirate Blackbeard had a reputation for being a harsh, .......... man.

1) reliable 2) ruthless 3) perpetual 4) prevalent

Being a direct relative of the deceased, her claim to the estate was ..... SRS

1) prominent 2) profound 3) legitimate 4) reckless

There are more than thirty species of rattlesnakes, varying in length from 20 inches to six
feet and also varying im ........... of venom.

1) domination 2) detection 3) congquest 4) toxicity

11-
12-
13-

14-
15-

Foothall is (11) ....... ball game in the world and the most popular as a spectator sport,
The simplicity of the rules and the fact that it can be played practically everywhere
(12) ........ to this popularity. It is played on all continents and in more than 200
countries. At the 2000 census (13) ........ by the world governing body, the Federation
Internationale de Football Association (FIFA), (14) ........ some 30 million registered
players at all levels. In addition, there are (15) ....... casual players inveolved in pickup
games in streets, on parking lots, on school playgrounds, in parks, and even, as in Brazil,
on beaches.

1) played the most widely 2) the most widely played

3) played most widely 4 the widely most played

1) has contributed 2) will be contributing

3) had contributed 4} will have contributed

1) to be taken 2) was taken 3) that taken 4) taken
1) which were 2) there were 3) they were 4) were
1) many millions 2) many of millions

3) many millions of 4) many million
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Reading Comprehension

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits

each space. Then mark the correct choice on your answer sheet.

PASSAGE 1:

The many volumes of the German sociologist Ulrich Beck first argued from the late 1980s that
our risk society is potentially being transformed by the environmental social movements of the
world into structural change without rejecting the benefits of modernization and
industrialization. This is leading to a form of reflexive modernization with a world of reduced
risk and better modernization process in economics, politics, and scientific practices as they are
made less beholden to a cycle of protecting risk from correction (which he calls our state's
organized irresponsibility). Politics creates ecological disasters then claims responsibility in an
accident, yet nothing remains corrected because it challenges the very structure of the operation
of the economy and the private dominance of development, for example. Beck's idea of a
reflexive modernization looks forward to how our ecological and social crises in the late 20th
century are leading toward transformations of the whole political and economic system's
institutions, making them more rational with ecology in mind.

16- What does the passage mainly discuss?

1) Reflexive Modernization 2) Ecological and Social Crisis
3) Dominance of Development 4) Political Ecological Disasters
17- The word volumes in the first line is closest in meaning to .

1) struggles 2) endeavors 3) books 4) beliefs
18- According to Ulrich Beck, we must to modernize our society.

1) reject the advantages of industrialization in order

2) accept the advantages of industrialization in order

3) reduce the benefits of the environmental movements

4) organize the benefits of the environmental movements

19- Why is the state irresponsible?

1) Because politics creates environmental disasters.

2) Because the state claims responsibility in an accident.

3) Because the state never accept the responsibility of disasters,
4) Because politics is influenced by environmental movements.
20- The author finally concludes that Ulrich Beck's idea
1) transforms political and economic system's institutions

2) solves social and economic erisis in the late 20™ century

3) makes political and economic institutions more responsible to environment

4) leads to a more rational approach in dealing with political and economic crises

PASSAGE 2:

The anthropological social sciences often develop nuanced descriptions rather than the general
laws derived in physics or chemistry, or they may explain individual cases through more
general principles, as in many fields of psychology. Anthropology (like some fields of history)
does not ‘easily fit into one of the categories called natural sciences, humanities, and social
sciences. And different branches of anthropology draw on one or more of these domains.
Within the United States. Anthropology is divided into four sub-fields: Archaeology, Physical
or Biological Anthropology, Anthropological Linguistics, and Cultural Anthropology. It is an
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area that is offered at most undergraduate institutions. The word anthropos is from the Greek
for "human being" or "person." Eric Wolf described sociocultural anthropology as "the most
scientific of the humanities, and the most humanistic of the sciences,”

21- Which of the following is true of the anthropological social sciences?

1) They often develop the general laws derived in physics or chemistry,

2) They often give different descriptions unlike those of physics or chemistry.

3) They describe general principles derived from individual cases like many fields of
psychology.

4) They develop nuanced descriptions based on individual cases unlike many fields of
psychology.

22- One can infer from the passage that anthropology
1} gain inspiration from all four sub-fields.

2) gain inspiration from one of the three disciplines.
3) must be defined in a way to fit into one of the four sub-fields.

4) must be defined in a way to fit into one of the three disciplines.

13- How many anthropological subfields have been mentioned in the passage?

1) three 2) four 3) five 4} six

24- Which of the following deals with study of ancient cultures th rough their artifacts?
1) Biological Anthropology 2) Cultural Anthropology

3) Anthropology 4) Archaeology

PASSAGE 3:

The goal of anthropology is to provide a holistic account of humans and human nature. This
means that, though anthropologists generally specialize in only one sub-field, they always keep
in mind the biological, linguistic, historic and cultural aspects of any problem. Since
anthropology arose as a science in Western societies that were complex and industrial, a major
trend within anthropology has been a methodological drive to study peoples in societies with
more simple social organization, sometimes called primitive in anthropological literature, but
without any connotation of inferior. Today, anthropologists use terms such as less complex
societies or refer to specific modes of subsistence or production, such as pastoralist or forager
or horticulturalist to refer to humans living in non-industrial, non-Western cultures, such
people or folk (ethnos) remaining of great interest within anthropology.

25- What is the goal of anthropology?

1) To specialize people in only one sub-field.

2) To give a special account of any scientific problem.

3) To focus on only one aspect of humans and human nature,

4) To give biological, linguistic, historic and cultural aspects of humans.

26- One can infer from the passage that anthropology societies.

1) often studies industrial 2) seldom studies primitive

3) often studies more complex 4) seldom studies sophisticated
27- According to the passage, the within anthropology bas been a methodological
drive to study peoples in societies with more simple social organization.

1) most important tendency 2) significant disadvantage

3) superficial disadvantage 4) negligible tendency

28- The word connotation in line 7 is closest in meaning to .

1) definition 2} indication

3) inferred meaning 4) propositional meaning

29- Which of the following refers to a person who searches for food?

1) forager 2) horticulturalist 3) pastoralist 4) peasant
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folk.

30- One can infer from the passage that anthropologists are especially interested in
1) effortless 2) complicated 3) comprehensible  4)
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